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WA IR 1
(Assignment—1)

Yurs—3
(Section—A)
1. HHRIN SMWHATs & g AH @1 A9 &1 8 2

What will be the value of AH for Endothermic reactions ?
2. fIwiIv U & U7 FT TH-Th ISRV fIRay |

Write one example each for Extensive and Intensive property.
3. TUSTY @ 3T R B € °

What is the unit of entropy ?

4. FEIUS BT Uiyl fbdy YR uRafdd =il & 2

How does the entropy of the universe usually change ?



5. X HWEHAT N, (g) + 0, (g) 0 2NO (g) & fU &, Td k, & 7ed T Wael &A1 2
For equilibrium reaction :
N,(g)+0,(g)0 2NO (g)
what will be the relation between &, and &, ?

6. UTRAT A F=C—-P+2 U P QAT F 7 U el & ?

In the phase rule F = C — P + 2, the terms P and F exhibit, what factor in a system ?

7. UHIGHANTS (Uni-bivalent) [IE[d-SITacy &1 Yo ISRV foIRay |

Write one example of uni-bivalent electrolyte.

8. <MIA ¥ H PH-HI G1q TS I R IR § 7

Which metal acts as Anode in Daniel Cell ?

Yug—q

(Section—B)

9. g aIfvw :
[ 0(AH) | e
T |, P

Prove that :

[ 9(AH) | ¢
ot |, T

10. <919 @ = @I T T DIVUE IS I8 e 9 - @I g8 dI Tl
FHI: 754300, 94380 UG 68380 DRl T |

Calculate enthalpy of formation of benzene, if enthalpy of combustion of benzene, carbon
and hydrogen will be 754300, 95380 and 68380 calorie respectively.

1. SEFIfae! & fgar 9 @ deg § A |

Give a brief account of second law of thermodynamics.
12. 273 K W & Al I & o 4 URac & forg Togidl uRac &I UM BHIfg |
[d% B @ HH =335] gm™' |
Calculate entropy change when one mole of ice is converted into water at 273 K.
[Latent heat of ice =335 ] gm-1]

13. fSeneifie g Tiorcifis s &1 € ? 396 Th-Uh SeTexvT QI |



What is Zeotropic and azeotropic mixture ? Write one example each of zeotropic and
azeotropic mixture.

14, TIfeiRad &1 e BN -
[vo.¥

pOH =pKb + log ——
[ (]

Derive the following :

pOH = pKb + log ISalt]
[Base]

g - 2
(Assignment—?2)
Yrs—4

(Section—C)
15. Cp 3R Cy H SHNIADN FT RAMYT BN | ISRIHIOT HWT R 8 ?

Establish the relationship thermodynamically in between Cp and Cy. What is heat of

neutralization.
16. fewlzy & amed i @ fory - Torid &1 79 I 2 & |
Show that the value of Joule-Thomson coefficient is zero for an ideal gas.

17. 9 ReRid 1 8 ? 3961 UG FURT & fhar Sar g ? 9o $ifev |

What is Cell Constant ? How is it determined experimentally ? Describe.

18. 3R<dles I AT " G HINTY | g1 Fedo Dbt feham orerr @ 2

Derive Ostwald’s dilution law. How is it verified ?

W IR 3
(Assignment—3)
Ylg—q

(Section—D)
19. fferRad W wfera fewfrr foRau :
() SRS B ST vd GrereeE

(ii) GhAYT TTTAT



(i) T SHofl

(iv) AMHAT SH BT IIIT FA Tl FRS

(v) HHd T™IT ™I

Write short notes on the following :

(i) Applications and limitations of Thermodynamics
(i1)) Inversion Temperature

(iii) Bond Energy

(iv) Factors affecting the heat of reaction

(v) Standard Enthalpy of formation
20. TUCTGl 7 g ? omed Il I e @ wugndl @ aASd @ T difeig | Togid @
Wi S &1 U BINY | SIS 99 T4 W@a: UhA @ forg fafi=r aRRefoal &
e B |

What is entropy ? Calculate the expression for entropy of mixing of ideal gases. Describe
the physical significance of entropy. Discuss the different criteria for thermodynamic

equilibrium and spontaneity of a process.

21, T B fAoRol g9 @1 & ? fIoR01 Ui Bl YT A el BRI & T eIy | e
fersil faerg &1 AR TR fooell U g | WU B e @ faoRer e § e denee evd
g ? W BT | &N BT W q1 8 ?

Explain Nernst’s distribution law. Name the various factors which affect distribution
coefficient. What correction was done in distribution law, when any solute gets associated in

any one of the solvents in equilibrium ? Explain. What is Henry’s law ?
22. Zn-Mg T3 U4 HRE FARZS-Tdl 03 B YTGRAT d% q1H) AR DI |

Explain Zn-Mg system and Ferric Chloride-Water system with phase diagram.



YUls—y

A - 4

(Assignment—4)

(Section—E)

23. (31)

IR Aol T € ? 36T /T A © 2 ¥ B9 IR Y Wi g ? fmforRad ww
faerei @ IR fopr W I

(i) CH;COOH + CH;COONa

(ii) NH,OH + NH,CI

What are buffer solutions ? What is their importance ? How are they prepared ?

Explain buffer action of the following buffer solutions :

(i) CH3;COOH + CH3COONa

(i) NH4OH + NH4Cl

PIGRIST BT 0 HT § ? 306! FBal 9 ol eu fdog oqur &1 fdergar &
feRor e GR 2

What is Kohlrausch’s law ? How will you determine the solubility of a sparingly

soluble salt with the help of this law ?

25°C W HCI, CH;COONa T NaCl & 3= TJal W edid! aTelbdly HAw: 426.

1688 910 TAT 12645 ohm ™' cm® & | CH;COOH @ 3= T W Jedidh! aTeteh]

ST DITY |

Equivalent conductivities of HCI, CH;COONa and NaCl are 426.16, 91.0 and 126.45
ohm™ cm? respectively at 25°C. Calculate the equivalent conductivity of CH;COOH at
infinite

dilution.

Udhel SldelS fOMd a7 § ? AFG BI3SIo Sldels &1 el &1 | auid HIfT |
i 31MaT PR eI & Uhdl Fodels a9 & A ST H- o faftr &1 v
PINTY | Maed el Ty forRau |




What is single electrode potential ? Describe giving diagram construction of standard
hydrogen electrode. Describe the method of determination of single electrode potential

of either zinc or copper electrode. Write essential cell reaction.
@) R & RIgT Ud 9919 & SURl @l AR | 9 BifoTg |

Describe principle and prevention methods of corrosion in detail.

(e e N\
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2. 8 ¥ o dwe Bg I Wefia grasl &1 WY ST R wad 2 |

3. WAld W 99 JHad-fRdaR 2023®T AFiaed 9o 13 &1 Wwy 09 s saad-—fawex
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A Rl 1

(Assignment—1)

Yug—3I]

(Section—A)

1. TSy &l soide e fa=am fafau |
Write electronic conifiguration of scandium.

2. HINTH o A afferfiaxor aravemt foRRau |
Write different oxidation states of chromium.

3. Ri® goldgls dl HI D JUdYg- q9d BT 1 fol @Q |
Write standard reduction potential value of Zn electrode.

4 st o @i

CU2S + ZCUZO —> ..... + .

Complete the reaction :

Cu,S +2Cu,0—> ..... o



5. Na3[Cr(ONO)g] Pl IUPAC H oY |
Write [UPAC name of Na;[Cr(ONO),]

6. HMvIgc fhadT 3D 2 ?
Of which ore is monazite ?
7. 3 (HA) @ ford o+ Reric 7 forRau |

Write value of ionisation constant for HA acid.

8. SOCI, 3R K,S0; ¥ 3+l 3R &R qarsy |
Point out acid and base in SOCl, and K,SO;.

Yrg—q

(Section—B)

9. WA AU qedl H GIfcad U b BRYT fIRay |

Write reason of metallic properties in transition elements.

10. 3[R T[0T FHSIEY |

Describe paramagnetic properties.
11, [Ni(CO),] Hahel @ folq YTl URATY] AT &l U bifoTy |
Calculate effective atomic number for [Ni(CO)4] complex.

12, JTRIBROT T T BT YRUTNT BIfoTU |

Define oxidation and reduction.

13. goldgrs fava @ gRuIid S|
Define electrode potential.
14. U¥9 oOIgE O 1§ ?
What are post lanthanide elements ?
g - 2

(Assignment—2)

Glg—q
(Section—C)
15. UM 07 GhAYT Tedl bl STRITBROT 3R] BT qUI DI |

Describe oxidation states of first series transition elements.

16. el el AT & T~ B I FFAM D fobdr Sl & ?

How can you estimate completion of a redox reaction ?



17. UTg oIATSS dcdi Pl SR FdeR qusigy |

Explain abnormal behaviour of post lanthanides.

18. 3-8RI AMETI TRV &1 IYAINTAT eirgy |
Describe application of Arrhenius concept for acid-base.
g - 3
(Assignment—3)
YUls—q
(Section—D)

19. UM £ HHAY Tl & JREDII U1 D ARAT HITY |

Describe magnetic properties of first transition series elements.

20. JiFATHRD] TAT JTARIBI B 3AUerd FH Bl T BT |

Compare relative strength of oxidising and reducing agents.

21, oFIgS AT YfdeAIgS HahaH H IR T BT |

Differentiate lanthanide and actinide contraction.

22, facmaa! & SIfreTEos T &1 9o BT |
Describe characteristic properties of solvents.
g - 4
(Assignment—4)
Grs—s
(Section—E)
23. NSIRT Th B fAveiwer R fewefy forRRav |

Write note on analysis of redox cycle.

24, TINISS & YUGHRY Il JIF ARl BT avi I |

Describe modern methods of separation of lanthanides.

gﬁmﬁ‘q"ﬂ —
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A Rl 1

(Assignment—1)

YGre—3
(Section—A)

1. foRe eF @1 g faRau |

Write the formula of picric acid.

2. BMcelelgs IR M &F fhaT 9 o1 91 & ?

Which product is obtained when formaldehyde reacts with ammonia ?

3. B o, WHIfed e, WUTS® 3T | BT Yael 37T & ?

Which is strongest acid among formic, acetic and propanoic acid ?

4. YIfE T O IRGM 9 OIfeTd egsiadgs & A1 AfAfhar b1 919 @ § 7



What is the name of reaction in which primary amine reacts with chloroform and sodium
hydroxide ?

5. U& 999 WRAIY] Tl B: Aewi [qvHashi AR &1 M foRay |
Write the name of heterocyclic compound containing one hetero atom.
6. TN AMNGHE FaT BT & ?
What is Lucas reagent ?
7. 9b-feR TTIE Afufhar ¥ o fieHe &1 TORT ITERId & w9 § BT g 7
Which reagent is used as reducing agent in Wolf-Kishner reduction ?
8. <o To o & I 1 FT § ?
What is the full form of T. N. T. ?
Yres—dq

(Section—B)

9. TUATHIT-fUeTeIae aiffshar @ & ?
What is pinacol-pinacolone rearrangement ?
10. BB JAfHaT @7 Bl @ 7
What is haloform reaction ?
1. 5 QU oNIga AFaRIaRos Sl &1 AW 9 e G a8y |
Write the name and structure of any fwo unsaturated monocarboxylic acids.
12. (AT B el | U gael &R &, &l ?
Why is aniline weaker base than ammonia ?
13. RRM &1 T FTAET FREAT Bl FAEY |
Explain the resonating structures of furan.
14. BHTA & AT W@HIT $I AU |
Explain the acidic nature of phenol.
AT - 2
(Assignment—?2)
Yle—y

(Section—C)

15.

ufch=l STfAfshaT @ fehariafd) FHESU |

Explain the mechanism of Perkin reaction.



16. 37y, &I QIR ISR AT oFdl & URAd @ Q-1 SeTevvl Ud va 43 forfg |

Write the names and structure of two acidic, two basic and two neutral amino acid.

17. Tgcieuiig & faf=T A1ea™ # STuerds &7 q9esy |

Explain the reduction of nitrobenzene in different medium.

18. TITCRA HYCIYY ! fehafafe wHeigy |
Explain the mechanism of Gatterman synthesis.
i ar- 3
(Assignment—3)
Yls—q
(Section—D)
19. T arffsharell @ fohafafey HHemey -
() Wisd HTe i
(i) oo YAI=am |
Explain the mechanism of following reaction :

(1) Friedel Craft Reaction

(i1)) Claisen Rearrangement.

20. SEAIFIC Bl G Pl G |
Explain the structure of isoquinoline.

21, T fgde dor [TEE Tedled H faue &7 ol [l al faftl &1 fawR 9 avie
DI |

Explain any two methods in detail used to distinguish between primary, secondary and
tertiary alcohol.

22. THICeeIRgs @l M+ ¥ fohar Jarsy
(i) CH;Mgl
(i) NH,OH
(iii) NaOH ()
(iv) Br, + NaOH
(v) (CH5CO),0 + CH;COONa

Give the reaction of acetaldehyde with the following :
(1) CH;Mgl



(i) NH,OH
(i) NaOH (dil.)
(iv) Br, + NaOH
(v) (CH;CO),0 + CH;COONa
g - 4
(Assignment—4)
Gle—g
(Section—E)
23. (a) ST 37 & TIHRYT B fRAR F FHRY |
Explain the classification of amino acid in detail.
(b) fRISH, T, IEHE & 3] HeTd 03 T4 WHICH Aev S FHemsy |

Draw molecular orbital diagram of pyridine, furan and thiophene and describe the
aromatic character.

24. (a) URSADRY U4 AT T &N 3ees & fohanfafsr &7 Jwsimsy |

Describe esterification and mechanism of acidic and basic hydrolysis.
(b) THTST 3R FIT € UG AT 41 YA & ?

What are crown ether and what are the uses of crown ether ?

(v h
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AT Dw A oWl B | A Rl W—ewafafEad g9 a1f?y | R & gRT foran
BIcieId A1 g&e &1 o faueET sgfaa |reE &1 93 441 S |

2. B 949 o d@q ¥q I Hafia gwasl &1 Hf SuIhT FR wad 2 |

3. §Aid UEl 93 wead-fiwer 2023@1 A0 U uF &1 wWwu 9w i
SHa—faaaR 202391 & IR

4 R o @& Yeaied ¥ B NI fHU MY IewAe wd oW, fawg @ wrem e
a9 ¥ Hifdddr ol AR I9R—T SR—¥T| 399 IASWIS a9 U 3Mferedd 60 yfawa
(18 3i® ) foar wimdw, fwg—avg & @@= o fay ffrean 20 gfier (6 &i®) don
goHrais, Aifas—aia gsfRfa s ) aiffeas 20 yfaed (6 sid) ur< @ 9ad o |

\\ 39 UBR o 100 YRrera (30 3i®) &1 fAqre= = | /




H-084
ufdsd g<xdld Al (qad) faafdenea s<iiare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
dfLoaf. (fg<a) grofiemes

fawa— e 3= fag™ URE L HR |

quTid : 30 AdH IV 10
die:— gdareff gde @ve @ el & 2 9 ugd} 9Tl Bl g N |

RIS RSN

T dri—1

Gus I — AT TSI U (1 8) {eT 08 UL B, T UL AR | UMA U 05 3 IR Wea AMAT
1—2 ¥ IT U a1 |

Gue g — A AGSTIT U (9 W 14) HA 06 UeH & FOoRT I Bl 04 U & P | URT UL 01 3 Bl
BT | SR g AT 75 T 3ATET U |

= srf—2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR Teq AT 150 AT U U |

= a3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BRI | 9reg AT 300 AT &7 US|

=g w4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BRI | STR @7 9Tsg AT 600—750 AT 4—5 U |

A Rl 1

(Assignment—1)

Yurs—3
(Section—A)
1. Woigs W o woferdl § urll o § ?
Placoid scales are found in which fish ?
2. W Y 5| I &1 HURRT © ?
The mammary gland is a modification of which gland ?
3. 3ifeNey BRMA Pal UR Wi § ?
Where is the obturator foramen found ?
4, T H B fe Ul SR © ?
Which kidney is found in man ?

5. SWIERI # foba WISl BuTely df3erd Ul o 8 7



How many pair of cranial nerves are found in amphibians ?

6. TAGHMICI SN & oM SSexYT Sy |

Give three examples of glycoprotein hormones.

7. 3rcgiftheg e dal Bl © ?
Where does ultrafiltration take place ?
5. R ¥ AT i RO € 2 7
What causes contraction in muscles ?
Yres—dq
(Section—B)

9. ‘{‘IIHCMT.%G Do B ISR Wfed HHERY |

Explain cycloid scales with examples.
10. ulerdl # e W fewol fofay |
Write notes on the syrinx of birds.

11. 499 g fod ded & ?

What is Venous heart ?

12. SIS BT fbd ded © ?
What is spinal card ?
13. I f Fed € ?
What is endocrine glands ?
14, 3. LS. ®@TE?
Whatis E. C. G. ?
W - 2
(Assignment—?2)
Yrs—4
(Section—C)
15, fal ¥ URY S arel Ufiedel TR @ gHsSU |
Describe the epidermal glands of mammals.

16. SR AR Tlerdt § N1 TGl Bl THSV |

Describe the pelvic girdle of amphibians and birds.

17. BRI fohesT &I THSIST |



Describe the mesonephros kidney.

18. TR Uy & & 9d8U|

Explain the functions of thymus gland.

AT e 3

(Assignment—3)

Gre—q
(Section—D)
19. W&ol a7 3IR TRl & Urad OF & JorTcHd quid i |

20.

21.

Give a comparative account of pisces and birds.
PRIGIRAT H T3 ST BT JelIcid v Bifr |

Give a comparative account of aortic arches of vertebrates ?

U3ICE & TR S F B JoAIcid duie By |

Give a comparative account of the male reproductive system of amniotes.

22, XAl # vaue @ FIGH FT favga o BRI |

Describe the physiology of respiration in mammals.

A - 4

(Assignment—4)

Yle—g
(Section—E)

23. ST T § ? WHIN H ST B BB BT quE DI |

What is excretion ? Describe the physiology of excretion in mammals.

24. TG HagT B FITST BT I HIT |

Describe the physiology of nerve conduction.

éﬁmﬁ‘q"ﬂ —

1
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GUS ¥ — TSI U (15 | 18) fed 04 U 2 fH ¥ PIg 03 LT & I | URT U™ 02 3fF &1 NI |
IR Tes AT 150 AT UHh U |

=g sri—3

GUg T — 3@ Ard I U (19 ¥ 22) FA 04 U 2 RTHH A BIE 02 YT &S BN | URT U 04 3(F BT
BRI | 9reg T 300 AT &7 US|

=g w4

Gus § — <Y I TR (23 ¥ 24) G 02 U © fORIH F BIS 01 U A by | U U 08 3id Bl
BRI | STR @7 9Tsg AT 600—750 AT 4—5 U |

A Rl 1

(Assignment—1)

Yle—3
(Section—A)
1. 7 # e orrardr wRR # wew 99 A S § ?
The largest gland among the endocrine glands present in humans is .................... .
2. NS M &1 (R0 fod gid & §IRT &I & ?
Progesterone hormones are controlled by which hormones ?
3. YV UHAT U & SN Fel BNl & 7
Where does the process of spermatogenesis take place inside the testes ?
4. gfg THA @1 9@V f5e W | g & ?

Which gland secretes growth hormones ?



5. Ufferer Ua ameiurel & 419 ol Wad del 941 & ?
What is the connecting link between annelida and arthopoda ?
6. dIcd Sl o e Gie # 30 faaR @ fay ?
In which book did Charles Darwin express his thoughts ?
7. Udhd fdarg wd Uqd R fobd Sl # grr e & ?
In which organism monogamy and parental protection are found ?
8. WS XA & DI BT M foIRay |
Write the name of mulberry silkworm.
Yres—dq

(Section—B)

9.

10.

1.

12.

13.

14.

ERITAT BT & AV 4 &I dTel &f fadRI Bl ferRay |
Write down two disorders caused by hyposecretion of the thyroxin hormones.
SR E @ @t B fray)
Write the functions of testicular hormones.
iR W e & et a1 iR |
Write the functions of follicular stimulating hormones.
HIDATE Bl FHIATSY |
Explain Lamarckism.
TG adav & fepafafey &1 aoi i |
Describe the mechanism of natural selection.
ARG D FHSEY |
Explain Courtship.
W - 2
(Assignment—2)

Yre—y
(Section—C)

15.

16.

o I Al e qwesy |

Describe the mechanism of birth.

fAfr=Tamer o1 I9eIgy |

Explain variation.



17. JATROT BT LRV BT FANSV |

Explain concept of motivation.

18. 9gddTE I ISRV Aied FHNSY |
Explain polygamy with example.
i ar- 3
(Assignment—3)
Yls—q
(Section—D)
19, TTTaRel @ Al o1 |HsIey |

Explain the methods of pregnancy.
20. difcrRad Yol ferfeerdl & FHemEy |

Explain extraembryonic membrane.
21, JHR Bl FHENSY |

Explain isolation.

22. BT P TETERYT Hied FHAE |
Explain learning with examples.
AT PR 4
(Assignment—4)
Grs—s
(Section—E)
23. UG SAER YAl Bl FHESY |

Explain reproductive behaviour patterns.

24. EAMS VR U ISR BT FHISV |

Explain hormone, drug and behaviour.

gwﬁ‘c‘fﬂ —

~

1. 9 dEq e @ aR ¥ fawar ScagRaer feie 31 orma 2023 @ Hefda
AFAT = H Wl N | G HR W—sfafEad B4 A1t | g @ §RI forar =T,

wiciadl a1 (&e & few @ e sgfaa |req &1 93T |44 SR |
2. BE WA d AW BY I GalHd gEHl &1 W SUINT HR D o |

3. gAd TNET 99 sFad-—feer 2023@T A€ifdd 9 U Bl WHU A b

Sad—faEaR 2023941 & BT

4. i o @ Yoaied A BE R Y Y Jemda 9 oed, fawa @ @ qen
d@q # wHifdear H AMGR 91T AT 3HH AT A@A R IAftrdan 60 ufuera
(18 3w ) fear @M, fAwg—axg @ @a=n & fay freaw 20 yfem (6 3id) e
goHrais, difae—aia ysfRfa 89 w afrea 20 yfdwra (6 3id) 9 &1 9ad @ |

\ 39 UHR o 100 Yfaerd (30 3A®) &I fAqTe @M

/




H-086
ufvsd gexdrel Wi (o) fazafqerea s<iae, faeamayr
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
figa A (fgfra) aaufa ==
fawa— i aten @i S5 Rieafeq ) fafaerar gIA: Yo
quTis : 30 FAdH Iconid: 10

e — gdareff yQe gvs o fAd @ <aF @ dedH} YT Bl g B |

e g i -

T dri—1

Gug 3 — Af AYSTRIY U (1 ¥ 8) Rl 08 U &, I U 3f+ard | Ul Ue9 0.5 3fb IR g AT
1—2 3 AT U aTad |

Gue g — A AGSTIT U (9 W 14) HA 06 UeH & FOoRT I Bl 04 U & P | URT UL 01 3 Bl
BT | SR g AT 75 T 3ATET U |

i w2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR Teq AT 150 AT U U |

i sri—3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BRI | 9reg AT 300 AT &7 US|

= srd—4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BT | SR @7 e AT 600—750 AT 4—5 U |

WA IR 1
(Assignment—1)

Yug—3
(Section—A)
1. gl 31 dieil & M foRey R fawweiiaregdr o ol & |

Write the names of two plants in which Heterospory is found.
2. 3FgAdrSl 3R gAdIS Ul $T dhael b T <R [eTRay |

Write only one main difference between Gymnosperms and Angiosperms.

3. AEHI B T Yonadl & ot T faRau |

Write any name of two species of Cycas.

4. = T JgadIorl BT A ferag |



Write the names of two primitive Angiosperms.

5. B @1 Q& Bl T il |
Write down the names of book of Hutchison.
6. NI SRIYF=I fobg ol # g e § ?
In which family parietal placentation is found ?
7. IFdqd &9 gt o1 Ut § ?
To which family does the ‘Anantmool’ belong ?
8. TMUTHl g & < Ul & grefd M foaRay |
Write down the botanical names of two plants of family Apiaceae.
Yreg—q
(Section—B)
9. Frgaaron Ul & W oterr forRay |
Write the main characters of Angiosperms.
10. AISHH DI T BT bacl e THifce (o3 g9 |

Draw a neat and well labelled diagram of Cycas Leaflet.

11, U BT Sl BT badf W8 AMifed 7 g8V |

Draw a well labelled neat and clean diagram of Pinus Needle.

12. TlNT 9T BT & ? SFHSMsy |

What is Flora ? Explain.
13. afifal Fforal @1 RATYT BT |

Define the Taxonomic keys.

14, TUTH G & el BT qUH DIfog |

Describe the fruit of family Apiaceae.



W - 2
(Assignment—2)
Yrs—

(Section—C)
15. 3Bgl & SiIa9 % BT dacl NG §913 |

Draw a graphical life cycle of Ephedra.

16. rRIfAGHaT & Rigra &1 vl Sifav |

Describe the principle of priority.

17. U2l o & (e el &1 U BT |

Describe the identifying characters of family Acanthaceae.
18. |/l ot & U Ulel & WA M SR aredfos T forRe |

Write the common names and botanical names of five plants of family Solanaceae.

W - 3
(Assignment—3)
Yls—q

(Section—D)
19, SHaTeHIa &1 Ufshar &1 FHeISy |

Explain the process of fossilization.

20, UISTE & HAIGT B (3d) BT fawI qui I |

Describe in detail the female cone of pinus.

21. BIRIEIAe & afffal & IrreM W fewf Hifv |

Comment upon the contribution of cytology to taxonomy.

22. foIferudll gt &1 aui HIfTY |

Describe family Liliaceae.



W IR 4
(Assignment—4)
Yrs—3g

(Section—E)

23. JHROGH Fot &1 I aoe B |

Describe in detail the family Euphorbiaceae.

24, ATZHY, U AR 3HeT H YT =R foIRay |

Write down the main difference between Cycas, Pinus and Ephedra.

(neern h

1. ¥ dEd e @ ) ¥ faeer ScavgfRaer feAie 31 ra 2023 9@ weft@
LTI D A oW B | A R W—awafdfEad g9 91fdy | R @ gRT foan
BIcieId a1 §&e &1 o faueET sgfaa |req &1 93T |41 S|

2 BE ¥ o dw Bg I Hefia grasl &1 WY STT R wad 2 |

3 WAd U9l 9F wHad-fader 2023@1 Agifoe yW ot &1 wWeu A et
Sa—fegaR 2023941 & BT

4. ¥ o & Yeuied ¥ BF R fHU WY JqewE ud oewd, fawa @ a@rEr qen
dEq # Aifaear & AR FR—T TR $HH AFIT d@d W AT 60 yfera
(18 3w ) fear @M, fAwg—axg @ @a=n & fav sfreaw 20 gfem™ (6 3i®) e
gorois, difaes—ara yslRfa 9 w afreaw 20 gfiera (6 3id) 9 &1 9ad 2 |

\\ 39 UBR o 100 URrerd (30 3id) &1 fA9Te @ | /




H-087
ufdsd g<xdra Al (ad) faeafaenea s<iare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
flLga . (fg<ha) as=afa sm=

fawg— gefig dlen § "=, Qe v gaue+ geg: fgda

quTid : 30 AdH IV 10
dre— gdanefl yde @wve & fAdel &I S 9 ugH} 9Tl bl v BN |

qierell &g e

A Hrf—1

Gus I — AT TSI U (1 8) {eT 08 UL B, T UL AR | UMA U 05 3 IR Wea AMAT
1—2 ¥ IT U a1 |

Gue g — A AGSTIT U (9 W 14) HA 06 UeH & FOoRT I Bl 04 U & P | URT UL 01 3 Bl
BT | SR g AT 75 T 3ATET U |

= srf—2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR Teq AT 150 AT U U |

= a3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BRI | 9reg AT 300 AT &7 US|

=g w4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BRI | STR @7 9Tsg AT 600—750 AT 4—5 U |

A Rl 1

(Assignment—1)

Yurs—3

(Section—A)

1. ¥ <Y R/ ?
What is root cap ?

2. T GG R/ ?
What is sap wood ?

3. Ueh A AT ?
What is scale leaves ?
4, v WA fooa dre 7 fiyerar g ?
In which plant having respiratory root ?

5 qravy fbd dEd € ?




What is lenticels ?

6. IRy diel & A 9amsy |
Give the name of Epiphyte plant.

7. Wh RTE?
What is herbs ?

8 WEUA ATE ?
What is bract leaves ?
Yres—dq
(Section—B)
9. RRII=ITE BT FHIEY |

Explain venation.

10. STgel™ &1 a7 o Pifrerart I 2idr g ?

Which cells form xylem ?

11. ST BT GHSISY |

Explain plerome.

12. 997 Qe @ FwsMEy |

Explain leaf abscission.

13. SIRAMIIRS Refer BT e B |

Clear the epigynous condition.

14. TRTIV I FHSATY |

Explain pollination.

W - 2
(Assignment—?2)

Yrs—4
(Section—C)
15. YAl WIS TF T4 SRS g T3 H Ifck gy |

Differentiate between tap root and adventitious root.
16. TSI DI FHNRY |

Explain the apomixis.

17. YUTSIOTdT &1 YfshadT Bl FHMS |



18.

Explain the process of leaf senescence.

ARECH BT TS |
Explain the meristems.
g - 3

(Assignment—3)

Ylg—q
(Section—D)

19.

20.

21.

22.

THATIA T4 BT AR AT BT 9o I |

Describe the internal structure of monocot stem.

TSl & HUTCRY Bl FHST |
Explain the modification of root.
AT T & ? ID YHR FT Gu BT |
What is placentation and describe their types.
dISTUSl & YBR Dl G FHIAEY |
Explain types of ovules with diagram.

AT PR 4

(Assignment—4)

Yle—g
(Section—E)

23.

qRegay PRl ERaT 0 B @1 ao PR

Describe periderm development structure and function.

24. Bl TG 9IS @ YD BT FHIMSY |

Explain dispersal of fruits and seeds.

gwﬁ‘c‘fﬂ —

T dEd i 1 a) 4 fawer ScyRaer f&e 31 e 2023 9@ €t
I D A oWl B | A SR W—awdfafEad g9 913y | ¥R @ gRT foran

1.

BIciH A1 (&6 &1 e s sgfaa |req &1 9aiT |44 S |
B 934 o |d@q vq 379 "ahia g&al &1 Hl SUIIT IR dhd 2 |

~

IATd U A Sa—fader  2023b1 Agifded 93 U B WHUY GAI bR

Sad—fadeR 202341 & BT

i o & Yeaied ¥ B R f&U WY e ud o, fawa @ e qen
dET H HAfdedr &1 FMER IR IR | $9H IASMIT d@ R Aftdad 60 yfaera
(18 3w ) fear <@, fAwg—axg @ @a=n & fay freaw 20 yfem (6 3id) e
gorois, difaes—ara ysfRfa 9 w afreaw 20 gfoea (6 3ia) 9 &1 9ad 2 |

39 UPR o 100 YRrera (30 3i®) &1 fA9Te @ |

/




H-88
ufdsd gaverd i (Ya<) fazafdenea s<iame, faemayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
figa . (fgdhm) #ifos o

fasg—ial oy wfa &1 Rigia, ssAMfas) td aikagaiy,

Al ar dw YIIUA: Yo
qurfa - 30 ~AqH Scdiviid: 10
die— thareff yde wvs @ Ade & 2ae 8 ugHR YTl Bl ' BN |
qemedt 3 e
= srf—1

Gus 3 — I TSI U (1 ¥ 8) {et 08 UL B, W U Ifard | Uiy U= 05 3 SR wea AT
1—2 9eE AT U aTa |

Gue § — JAf TSI U (9 W 14) HA 06 Y © R I Pl 04 U &A BN | Ul U 01 3fb Bl
BT | SR g AT 75 T 3ATET U |

=g srf—2

GUS ¥ — TSI U (15 | 18) fed 04 U 2 fH ¥ PIg 03 LT & I | URT U™ 02 3fF &1 NI |
IR Tes AT 150 AT UHh U |

=g sri—3

GUg T — 3@ Ard I U (19 ¥ 22) FA 04 U 2 RTHH A BIE 02 YT &S BN | URT U 04 3(F BT
BRI | 9reg T 300 AT &7 US|

=g w4

Gus § — <Y I TR (23 ¥ 24) G 02 U © fORIH F BIS 01 U A by | U U 08 3id Bl
BRI | STR @7 9Tsg AT 600—750 AT 4—5 U |

A BRI

(Assignment—1)

Yre—3
(Section—A)

1. SchAUY S99 BT <eraT 9T Bl & °

What is the efficiency of reversible engine ?

2. HWNIS Uspd # 64 T ord o1 g7 fakay |

Write the formula for work done in thermodynamic process.

3. amed il & foru AieR fafdre SwARl & 3R @1 8T § ?

What is the difference in molar specific heats for ideal gases ?
4. A fafdRor & @@ ared © ?

What do you mean by thermal radiation ?




5. 4 & favemue M &1 79 foRau |

Write the value of Wien’s displacement law.

6. MhoRex H FRIGNT Ueref o7 Bl © ?

What kind of substance is used in refrigerator ?
7. n Y9G BN Bl e b &I THEHE SISl H (ARG R W GEH eIl Bl qol Gl
T e & ?
Find the value of microstates if ‘n’ particles are distributed in two chambers of boxes.
8. B-Urad BT A fhar BT & ?
What is the value of 3 -parameter ?
Yls—q
(Section—B)
9. TS T B FHIS |

Explain Brownian motion.

10. IHAYII T IIHAUI Yehdl Bl AT DIfoTY |

Describe the reversible and irreversible processes.
11, IR B 5 aed € 2
What do you understand by transport phenomena ?
12. ORI Bahd & ol § W1 7 AT ‘6" HUR A DI Tl F1d DIy |

In a game of dice, find the probability of finding ‘1’ or ‘6’ in its upper face.

13. g0 & P11 $I N. T. P. W 9 HAEI I a1l A1 DI | T BT BT SHHA 5% 107 kg
gl

Find the speed (root mean square) of fog’s particles at N. T. P. when its mass is 5x 1077 kg.

14. g I -
(&),

Prove that :



() v

W FRI-2
(Assignment—?2)
Yrs—4
(Section—C)
15. SWMIAS! & UM R BT gRATYT $vd §U g0 TORITT ST Sifo |

Define and derive the first law of thermodynamics.

16 wmﬁvfﬁmﬁ@aﬁﬁuﬁ?(@)T=0|

ov

Prove that for an ideal gas (G_U] =0
oV )r

17. S1ferepdd UTRIGaT &1 3raven # faerer dor Sqa it W FRdT sid BT |

Find the maximum probability deviation and its dependent on value of ‘n’.

18. fouroies B W At fewol forRau |

Write a short note on partition function.

g - 3
(Assignment—3)
Yls—q

(Section—D)
19. TRA 9 YA BT 9UIF BT |
Describe the absolute temperature scale.
20. Sgrsd Ao Bq alord A i |
Derive an expression for adiabatic cooling.

21. WaCS NI Bl SR AISTg &1 SR 8 D DI (T DI |

Derive an expression to find Doppler width for spectral lines.



22, 9G-S BT fAdvor M o IR ST |

Describe the Bose-FEinstein’s distribution law.

W IR 4
(Assignment—4)
Yug—g

(Section—E)

23. Bl 39T &I BRIFART BT U HIFTT |

Explain the working of Carnot engine.

24, R RIGTT @& SMER W 1 & ST NS & g @S SiTd ifory |

Derive an expression for viscosity coefficient for gases on the basis of molecular theory

[ anvers e h

1. ¥ dEd o @1 B 9 faeer ScaxyRasr fRA1® 31 e 2023 9@ Hefda sreaas
7 4 o P | 94 B W-swlaiad g1 af?y | gER @ g1 forEm I, wicihrd
IT YEIe &1 31 fausn sgfaa ares &1 9aT 491 SR |

2. 8 A o @ ?g I Wfia grasl &1 WY SuAT R wad 2

3. OAid wEr 99 Sead-fRdeR 20231 AGifad U 13 BT @wd 909 df sHad-femar
2023GHET B BT |

4. A B & YAiBT ¥ B §RI fHY MU Je9d7 ¢9 @, fawa @) s aon deqa 9
Hiferdmar S AR §91-T SR | 399 e @ WX frdban 60 gfaera (18 e ) faar
o, fawg—aw @1 e @ fau Aafteaw 20 ufaem (6 &id) A goHTId,
Hifas—dia ylRia s ) afrean 20 gfaed (6 @) 9T & &d o1 39 USR o

\\100 gferera (30 3f®) &1 fauTeT R /




H-89
ufded g<xdrd Al (qad) faeafdenea s<iare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
Lo (fg<h) wifaes s

fawa— ax1, «af-iaT va g1t g fgd™

quTid : 30 AdH IV 10
Aie:— gdareff gde @ve @ el & 2aF 9 ugdH} 9Tl Bl g BN |

RIS RSN

T dri—1

Gus I — AT TSI U (1 8) {eT 08 UL B, T UL AR | UMA U 05 3 IR Wea AMAT
1—2 ¥ IT U a1 |

Gue g — A AGSTIT U (9 W 14) HA 06 UeH & FOoRT I Bl 04 U & P | URT UL 01 3 Bl
BT | SR g AT 75 T 3ATET U |

= srf—2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR Teq AT 150 AT U U |

= a3

GUS T — 3@ A" IR U (19 9 22) {A 04 U © fTHH A DS 02 YA A X | URT U 04 3fF BT
BRI | 9reg AT 300 AT &7 US|

=g w4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BRI | STR @7 9Tsg AT 600—750 AT 4—5 U |

A Rl 1

(Assignment—1)

Yues—
(Section—A)
1. I TR 9 & fofQ Jfraeaes fdew fofla |
Write the necessary condition for the formation of a stationary wave.
2. @ & fiad 5 Fed € ?
What is diffraction of sound ?
3. T B9 g & I SN fafay |
Write two uses of main focus point.

4. fquer fbad yeR @ 20 2, fafau |

Write the types of aberrations.



5. WG ATTHRUFA & I W forRav |
Write the two applications of Michelson Interferometer.
6. 37d IRV fafy & |1 A foffay |
Write two advantages of Eagle mounting method.
7. S YRIAMA @1 gRETT foRay |
Write the definition of population inversion.
8. TR YfehdT fbdt DEdl © IR $b YR ferRav |
What is pumping process and write its types.
Ylg—q

(Section—B)

9. Bl I qUT WS 9T ¥ G A DIy |

Desire the relation between group velocity and phase velocity.
10. =IeH Io1d Bl FHIY |

Explain Newton’s ring.
11, T WRIE IFET 9 M9 F1 9 © 2

What do you understand by plane reflection grating ?
12. e @ faRwany forla |

Write the characteristics of hologram.
13. SRGUT B RIS &WaT ¥ 31T T FHSII & ?

What do you mean by resolution power of telescope ?
14. T IR Pl GHNSY |

Explain Pulsed Lasers.

W - 2
(Assignment—?2)

Yrs—4

(Section—C)

15.

fomor fodt ed € ? 39 R & AeOH W AWIIEY | 3% Y oX {1 off el B ?



What do you understand by distortion ? Explain it with the help of a diagram. How can it be

removed ?
16. 9] BR GRI fdgc I THNSY |
Explain diffraction of straight edge.

17. Y1 & Yav B G |
Explain polarization of light.

18. el ook & YAd 9T Bl [ &1 FERal | qAshsy |
Explain each part of Ruby laser with the help of a diagram.
g - 3
(Assignment—3)
Yls—q
(Section—D)
19. UHFAM SRI H STURY-TRIT & o7 $ GHSMY |
Explain the speed of transverse waves on a uniform string.

20. I & YART ¥ 5l 1 ISR g WD I B |

Derive the expression for the width of the fringe in Young’s experiment.

21, 31 Ul ol & WA B BIdd g 1 DI |

Find the focal length of combination of two thin lenses.

22, IS D A TAT B [ONd P FHSAGY |
Explain the Einstein’s A and B coefficients.
AT - 4

(Assignment—4)

Yls—g

(Section—E)

23. 3qdcl YT A MY T FHIT & ? elUs AR AT BT AHNAR 5qh A IR B
B1 forRau |

What do you understand by concave grating ? Explain the Rowland mounting method and

write its advantages and disadvantages.



24, DF-IRT AFTHROMTS F MY AT FH & P 3D AR AR e fAdRer $ qHRy aen
B g =T dgar B @t B oIy |

What do you understand by Febry-Perot Interferometer ? Explain its construction and

intensity distribution and write the conditions for maximum and minimum intensities.

(v e h

1. ¥ deq e @1 8R4 fagar ScavgRaer faies 31 aFRa 2023 d@ Aefa
AT 7 A oW N | G HR W—swfafEad g1 9ifev| g @ R forar &,
BIcieId A1 g &1 o fauesn sgfaa |req &1 93T |44 S |

2. 8 ¥ o dEe ?g I Wefia grasl &1 WY SuAT R wad 2

3. ATd Em 99 SHad-fRier 2023®T AFiad 98 99 &1 WHU 99 s Sad-—fadax

202341 & @M |

4. A B & YAiBT ¥ B §RI {6 MU Je9d7 ¢9 @, fawa @) s aon ded 9

Hiferdmar S AR §91-T SR | 399 e @ W= freban 60 gfaera (18 e ) faar

o, fawg—asg @1 aren @ fau afeaw 20 ufaem (6 3i®) dXnm goHTai®,

Aifas—aa ylRfa g ) ftrean 20 gfaerd (6 @) T & G&d 21 39 USR o

\\100 gferera (30 3f®) &1 fauTeT R /




H-90
ufded g<xdrd Al (qad) faeafdenea s<iare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
dLga. (fa<da) wfa

fasa— S=a el PESUEHR R B

quTid : 30 AdH IV 10
die— g yde gve @ e @ sIF | ugdH Ul Bl & BN |

RIS RSN

= srf—1

Gus I — AT TSI U (1 8) {eT 08 UL B, T UL AR | UMA U 05 3 IR Wea AMAT
1—2 ¥ IT U a1 |

Gue g — A AGSTIT U (9 W 14) HA 06 UeH & FOoRT I Bl 04 U & P | URT UL 01 3 Bl
BT | SR g AT 75 T 3ATET U |

= srf—2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR Teq AT 150 AT U U |

= a3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BRI | 9reg AT 300 AT &7 US|

=g w4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BRI | STR @7 9Tsg AT 600—750 AT 4—5 U |

A Rl 1

(Assignment—1)

GUS—a
(Section—A)
1. STIq: URIG 3TIHA B IR BHIFT |

Define bounded above sequence.

2 e WReg oFEd @1 TR AR

Define bounded below sequence.

3. TN UHIQT FHA Bl URMINT I |

Define monotonic increasing sequence.

4 %@Wﬁsa@w{an}={l} Reg 77 2|

n



Prove that a sequence {a,, } = {l} is a bounded sequence.
n

5. oIl IIRIel B GRMTIYT BT |
Define open interval.
6. i @l R forRa |
Write the definition of continuity.
7. i @1 aRwmr forfdy |
Write the definition of minima.
8. dH Gl DI GHENSY |
Explain the family of curves.
Yrs—q
(Section—B)

9. ﬁﬁaﬁﬁ?ﬁ?aﬂw{xﬂ}:{ z }WWW?I

n+1

Prove that the sequence {x, } = { } is a convergent sequence.

n+1

10. aigy fob 2ol Zun:iﬂ T TR &l © |
n=l1

Show that the series 2u, = Z 2™ is a divergent series.
n=1
1. I
sinl tc x>0
f(x)=9"" %

0, tc x=20

ql qiey 6 g x = 0 W B MBE |iae € 312ar ™A |
If:

1
sin—, when x>0
fx)=9" x

0, when x>0

then show that the function is of mixed continuity or discontinuity at x = 0.

12. g @ifow o



limnx" =0 & 9 x < 1.

Prove that :
limnx” =0, when x <1.
13. Rig DINY b wer
f(ny)= ——=——, x20,y=0
()
£(0,0)= 0
Ta fog | ¥ad g
Prove that the function
f(xy)= —=—, x#0,y#0
2 2
(2 +5?)
£(0,0)= 0
is continuous at origin point.
14, 3l
3 3
flay)= =25 shxzy
xX=y
= 0 , ;ix=0
al 9 BT {6 BT £ (x, ), (0,0)WR Heq o@ aferar T8 |
If:
3 3
f(x,y): Xty , ifx=#y
X=y
= 0 , ifx=0

then check whether the function f(x, y) is continuous or not at (0, 0).
g - 2
(Assignment—2)
Yrs—4g
(Section—C)

15. Ife :



fdll oA (x,} @1 27 TE 5 @ I & AU R & FAN A Rig DI b
IT A SR 2|
If :

be the nth term of any sequence {xn }, then prove that the sequence is divergent with the

help of Cauchy’s general principle.

16. SUgY b Hor
u =xy+a3{l+l]
Xy
@1 (TS 79 342 2|
Show that minima value of the function :
u =xy+a3{l+l]
x oy
is 3a?.
17. ITHA & IPRRE & oy il &1 e Rrgra foRay @ fig i |
State and prove Cauchy’s general principle of convergence of sequence.
18. WAl y? = dax BT Dol S DI |
Find the centroid of the parabola y = 4ax.
A - 3
(Assignment—3)
Ylg—q
(Section—D)
19. fig @Ifo &
f(x+h)+f§l)2c—h)—2f(x) _ /" (x+ O)
Safb ~1< 0 <1 |
Prove that :
f(x+h)+f§l)2c—h)—2f(x) :f"(x+9h)

when—-1<0 < 1.



20. 9 faRaU s 3R g & B § 3R TTd IS T 4 (a,b) Bg 45 & T -
lim f(x,y) =1 3R lim g(x,y) =

y—b y—b

S
(i) lm[f(xy)tg(xy)]=1xm

xXxX—>a
y—>b

(ii) 11_r)n|:f +g(x,y)]=1m.
e

Let fand g be two functions and (a, b) be any point their common domain and, if :

lim f(x,y) =/ & lim g(x,y) =
x—a xX—>a

y—b y—b
then :
(i) )}g[f xy)tg(xy)|=ltm
y—>b

(i) lim [f +g X, y)] l.m.
y>b

21. qF1 & f:[a,b] > R" WA & 3R f:[a,b] § Faberid eB 9 45 x, € [a,b] BT
R 39 e U © & :

£ (B) =1 (a) < (b=a)l S (%)
Let f :[a,b] > R" be continuous and f : [a,b] differentiable on [a,b], then their exists

apoint x, € [a,b] such that :
£ (8)=F(a) < (b-a) 1 £ (x0)]
22. fiig BT b -

Prove that :



J- 1 x2dx J- 1 dx _om
0 1o LN )
(1+x4)2 (1+x4)2
T P-4
(Assignment—4)
Yug—g
(Section—E)

23. f(x,y) & WA A9 B & (Y srawge yfiey &

3).,-(8.,
ox (a,b) 8)/ (a,b)

I I8 vfey | 8T 8 SR
82f =r82f=sand£:t
a2 " Oxdy oy?

Al f(x,y) @ o9 99 & fog g e ol @ -
() rt—s2>0 T r<0 Sfeas & for)

(i) rt—s%>0 T r>0 (T & forv)

(iii) 7t —s2 <0 (TH A )

(iv) rt—s2 =0 (G € T AWM Sd @ AaeaH Bl 2 )

Necessary condition for extreme value of the function f(x,y) is:

9,3,
ox (a.b) oy (a.b)

If the condition is satisfied and

2 2 2
—af :r,—afzsand—af:l,
ox? Ox0y oy?

then sufficient condition for extreme value of the function f (x, y) is

(i) 7t—s>>0and r <0 (for maxima)
(ii) 7t —s% >0 and r > 0 (for minima)

(iii) 7t —s% < 0 (Not extreme value)



(iv) 7t —s® = 0 (is suspicious and needs further investigation)

24. (3) Bl
'[(:O x"~1e=% cos bx dx
SIN J.;O x™ 1% sin bx dx
Bl A T DIV |

Find the value of the functions :

© 1 -
J.o xM~le™% cos bx dx

and j;oxm‘le‘“x sin bx dx
(@) ooy b
 lilm
Bl = o
Show that :
[1]m

(e e h

1. ¥ dEd e @ ) 9 fa@er ScavgfRaer feAie 31 ra 2023 9@ weft@
A s A o B | 9 F w—swfafEd g1 a9y | g @ gR1 for &,
Biciadl a1 g&e &1 3681 e faa |ree &1 93T |44 SR |

2. B 99 o d@q vq I "afia gwasl &1 Hf SuAT IR 9ad 2|

3. 9Ad udEr 9§d wHad-fewar 2023@1 Agifde yT uF @1 wWeu AW er
Sad—faviaR 202351 &) R

4. T o > YNIEA H B gRI Y WU emda ud oed, fawa @ @ qen
o ¥ Hifdedr & AR IR—T SR 399 WY dW@T U 3Aferead 6o yfowa
(18 &im ) faar @@, favg—avg &1 @r=n & fay sffrean 20 gfoe™ (6 sid) don
gorois, difaes—ara yslRfa 89 w afreaw 20 gfoera (6 3id) 9 &1 9ad 2 |

\ 39 UBR Yo 100 Ufaerd (30 3i®) &1 fFqTe @ | /




H-91
ufded g<xdla Al (qad) faafdenea s<iiare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
dLga. (fa<da) wfa

fava— sradas afieor g fgdia

quTid : 30 AdH IV 10
die:— gdareff gde @ves @ el & < 9 ugd} 9Tl Bl wd N |

RIS RSN

T dri—1

Gus I — AT TSI U (1 8) {eT 08 UL B, T UL AR | UMA U 05 3 IR Wea AMAT
1—2 ¥ IT U a1 |

Gus § — A AGSTIT U (9 W 14) A 06 UH © FORT F PIS 04 UL &1 B | UM UL 01 3(d &7
BT | SR ¥reg M1 75 T ST U |

= srf—2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR g AT 150 AT TH U |

= a3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BT | 2Tsg THT 300 AT &7 US|

=g w4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BRI | STR @7 9Tsg AT 600—750 AT 4—5 U |

A Rl 1

(Assignment—1)

Yug—
(Section—A)
1. 99 AHHR B faRay |

Write Bessel’s equation.

2. J,(x) BTHA ®TE ?
2

What is the value of J; (x) ?
2

3. fow qiie » @ forw P, (0) &1 4 forRa |

Write the value of P, (0) for odd integer n.



AT BUIRYT & forv oM favwenmue gy forfau |

State first displacement theorem for Laplace transform.
L F} =7

s
L F} =7

s

3Reh Sfaehel FHGNO :
Ar+Bs+Ct+Dp+Eq+Fz=0

& WRYCId B B o (g |

Write the condition for partial differential equation :
Ar+Bs+Ct+Dp+Eg+Fz=0

to be parabolic.

THTBROT
0%z B 0%z B 0%z _0
ox?  Oxoy oy?
& fory T iRyl foffay |
Write the auxiliary equation for
0%z 3 0%z B 0%z _0
ox>  OxOy oy? '
el Bl URATYT BT |

Define functional.

Yrs—q
(Section—B)

TTSY & TeH-THfde THT & ) 3Mgae 9 IRadd 21 3 |

Show that all the eigen values of Sturm-Liouville problem are real.

10. ST PINTY :

L[Zx6 + x3 — 4e2* + 5¢os ZX}

Find :

L[Zx6 + x8 — 4e2* 4+ 5cos Zx}



11, WS AR o AR b P AT &
az+b=a*x+y
3 TG Sradhel THIERIT G BT |
Derive partial differential equation from
az+b=a’*x+y

by eliminating arbitrary constants a and b.
12. z=p?+g% @l IfeA gl ST DI |
Find singular solution of z = p? + ¢2.

0%z 62

13. FHIGRT — 3oy = 30(2w 4 ) P ORI AT 31 DI |
X y
Find particular integral of the equation :
2 2
a—§+8—§=30(2x+y)
ox= 0Oy

MﬁWHK)(j%@WWWmﬁWWWWW

Write the Euler-Ostrogradisky equation for functional :

) (2] (2] s

g - 2
(Assignment—2)
Yrs—4
(Section—C)

15, TR (1452) 2~y — 0 31 o AT E S A

Find the power series solution of equation :

(1+x2)g—y—y:0.

X

16. AT HUTR & forv iR v &7 forgax fig By |



State and prove the existence theorem for Laplace transform.
17. STHIGRY xzp + yzq = xy @ &l DIV |

Solve the equation :
xzp + yzq = Xy

18. AHIHRT
(D+D'-1)(D+2D"-3)z = 2x + 3y
HT AUS gl AT DIV |

Find general solution of equation :
(D+D'-1)(D+2D"-3)z = 2x + 3y

A BRi- 3

(Assignment—3)

Wle—g
(Section—D)
19. THIGNT :
d?y dy
- 2L (1+30)Z+y=0
x( x)dx2 (+ x)dx+y
&1 g1 Aofl gt U Bifoiy |

Find power series solution of the equation :

2

2
x(l—x)ic—y—(l+3x)%+y=0.

20. IS WUTRYT § gl DI :
2x

yu+4y'+5y = (COSX—SiHX)e_ 5

Solve by Laplace transform :

V'+4y +5y = (cosx —sin x)e‘zx;

21. IRfUC & s fafy & (p2+q2)y:qz B & DI |
Solve by Charpitt’s general method :
(PP +d*)y=¢z
22. HHIGRY :



Bl BT BT |

Solve the equation :

(Assignment—4)
Gle—g
(Section—E)
23. IR :
Y2r—2ys+t=p+6y
@ Aol A | & S B |
Solve the equation by Monge’s method :
Vir—2ys+t=p+6y

24. (&) P,(x) BT B e HIT DI |

Find the generating function of P, (x) .

(@ fog @i

(2n+1)xPn :(n+1)P

n+l T 1 Pn—l

Prove that :
(Zn + l)xPn = (n + 1)Pn+1 +nP,

(e e h

1. ¥ deq e @1 8R4 fagar ScavgRaer faies 31 aFRa 2023 d@ Aefa
AT s A o B | G H w—swfafEad g1 9ty | g @ gR1 forar &,
wlciadl a1 (e ST 3601 e faa |ree &1 93 |44 SR |

2. 8 A o e ?g I Wfia grasl &1 WY SuAT R wad 2

3 A TN 99 SHad-fREer  2023@B1 AFifoe e UF @1 WU 9 ek
S faRiaY 202391 € R

4 T o & Yoried A B §RT U U emdq ud e, fawa @ @ qen
dEd # HAifdddr B AR IAR—T SR SHH eI oEd WX 3ferebad 60 gfrerd
(18 3w ) fear wmawm, fawg—axg @ @ar=n & fag sfereaw 20 yfem (6 3i®) e
goa®, Aifas—ara yslRfa g9 W f¥read 20 gfawra (6 3id) < 8 9@d @ |

\\ 39 YBR Yo 100 Y (30 3f®) &1 faqre @] /




H-92
ufded g<xdrd Al (qad) faeafdenea s<iare, faamayR
LEIRECAE (Assignment Work) 99 — SHa—feeR 2023
dLga. (fa<da) wfa

fawa— itz g ol

quTid : 30 AdH IV 10
die— el g @vs & del & 49 9 dgdY UHl i g BN |

RIS RSN

T dri—1

Gug 3 — Af AYSTRIY U (1 ¥ 8) Rl 08 U &, I U 3f+ard | Ul Ue9 0.5 3fb IR g AT
1—2 < AT Y aTa |

Gue g — A AGSTIT U (9 W 14) HA 06 UeH & FOoRT I Bl 04 U & P | URT UL 01 3 Bl
BT | SR g AT 75 T 3ATET U |

i w2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR Teq AT 150 AT U U |

i sri—3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BRI | 9reg AT 300 AT &7 US|

= srd—4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BT | SR @7 e AT 600—750 AT 4—5 U |

WA IR 1
(Assignment—1)
Yle—3
(Section—A)
1. 9 3 IRAIRT I

Define Force.

2. BT Bl URAINT BT |

Define Catenary.

3 Siqer @ aRwIRE B |

Define equilibrium.

4. IR G B ARG BT |



Define null line.
5. I A 3 URMINGT BT |
Define null plane.

6. frE 8 @ g AR

Define apsidal distance.

7. YarEd T ol R BT |

Define constrained motion.

5. PR b i P @1 Ry

Write Kepler’s third law.
Yreg—q
(Section—B)

9. 599 I YR & geif o1 IRUT go1 S1d PITUE W 120° BT R fharehier 2 |

Find the resultant forces of weights 5 and 9 kg. acting at an angle of 120°.

10. f&xfY B[t ABC @1 3¢ AB 3R AC F¥: D 7 C fomgell R wwfgwing &t €1 Rig
piftlt f& BE @ DC gN fofid Faf &1 ool oo @ feem
3/2 BC ¥ frofid & 2|

ABC is a traingle, whose sides AB & AC are bisected at the points D and E respectively.
Then prove that resultant of forces represented by BE and DC is 3/2 BC, magnitude and

direction.

11. Uh $ I AGd T o a1 M ¢ 2@ fowe 7| ol fdg ® e o
BTG | D75 H {0 W GHST I SAHAH T BT ATl 81T 7

A particle is moving in S. H. M. with amplitude a. Find its velocity at any point. At what

distance from centre its velocity is half of the max velocity ?

12. RIg DINY o WIS W garor vard el & oad 2l & |

Prove that at the point apse, pole line is perpendicular to the tangent.



13. I DIS BV W @ H Fol 3R SHH MA x =13 -32 +12¢ + 4 R & O Al G
BT I JAIRYE 39 ST TRV I & O |

If a particle is moving in a straight line and its motion is given by x = £3 — 32 +12¢ + 4,

then find its velocity, when its acceleration vanishes.

14. 19 TH FU1 WX 3G A TR Y& 2B AV SGD MBI BT ST BT |

When a particle moving in S. H. M., then find the time period.
W - 2
(Assignment—?2)
Yrs—4
(Section—C)

15, o & Yo foaRau v Rig #Ifv |

State and prove Lami’s theorem.

16. % YT Ud THGA a9 R TOAE 21 Ife TR X 3R ifenfigd @R g 3R &
i A g T 5 e oy W I @ fem 9w o A gEd 2 wHeRw
\|/=Alog(1+Bt)§WTﬁmﬁﬁ€ﬁT%|

A particle is describing a plane curve. If the tangential and normal accelerations are each

constant throughout the motion prove that the angle y through the direction of motion turns

in time 7 is given by y = Alog(1+ Br).

17. TRIE ¢ & & SN AR VHTHN B & U6 GHaqyd @ BIC 9@ @ FR & |
THAGYS B e ol bl o lg b AR IR w @ Ol U gV &1 I Bl 4 9 VP B &l
2w (26 - a?)
b4b? — a?

ARt orawen # ¢ foar war B v Rig AT & o & aoma gl



A string of length a forms the shorter diagonal of a rhombus of four uniform rods, each of

length b and weight w which are hinged together. If one of the rods be supported in a

R C
orizontal position, prove that the tension in the string is )
by4b? — a?

18. 991 @I U (G W WAFAMES (R & eB YIS &0 AFad H U g B ol I &0
TS BT A 0T 5 T Gl 8| ¢ G RN o HG Hiforg 9o ¢ wg H AR g8 @ R
S DI |

A spherical rain drop, falling freely, receives in each instant an increase of volume equal to

A times it surface at that instant. Find the distant fallen through in that time.
A - 3
(Assignment—3)
Yres—q
(Section—D)
19. T 91 P AT Q TR NWRH & Qe fohar HRd & foiTeh FHIBROT BAI: y = x tan o &

z=c 3R y=-xtana,z = — %Iﬂ’éﬁ%ﬁﬁ? STRT Bald FeT TR T y:xP_Qtanoc

P+Q

qar Z Pr-Q R Ryg gl p g Q & wfi 99 & fov frg & a8 v

¢ P2 + 2PQ cos 20 + Q?
A (x2 +y2)zsin20c=2cxy Pl TP o & |

Two forces P and Q act along the straight lines whose equations are y = xtana, z = ¢ and

y = —xtana, z = —c respectively. Show that their central axis lies on the straight line :

_ 2 _ 02
Qtanoc and = = P7-Q
¢ P2 +2PQcos2a+Q?

=X

for all values of P and Q. Prove that this line is a generator of the surface

(x2 +y2)zsin2oc = 2cxy .

20. TR M W H e A WA W W T Rer [Ig@ W 99 o= Tl 2B W Rl
a,b,c W T u,v,w ﬁ*ﬁmﬁﬁ?m(period) T fFr=foRaa wfiexor 4 & 9 ©



Ltr—n(b—c)(c—a)(a—b)z a b ¢

IfinaS. H. M. u,v,w be the velocities at distance a,b,c from a fixed point on the straight
line, which is not the centre of force, show that the period T is given by the eqn.

B S R
4z

T(b—c)(c—a)(a—b)z a b ¢
1 1 1

21. To fivg &ftd ¥ o B W o« M A [oArHy & HfF BT T | AEIH B RO
IR mK (TR) & R¥™ | o @1 8| I A9 BIY

A particle is projected from horizontal at an angle o with velocity u# under gravity and
resistance equal to mK (velocity). Find the motion.

22. I Uferiy A9 § D5 TS SW &I AR Bl N I YR 97 3 F 98ofdT & | T
ST DI |

If the particle be projected vertically upward in a resisting medium while resistance varies as
velocity square. Find the motion.

W IR 4
(Assignment—4)
Yrs—3g
(Section—E)

23, U% fi SEER 9 & 3 q W $U DI T AT DI |

Find the motion of a particle on the inside of a smooth vertical circle.

24. gdrg fdaiat # fAve @1 @R F1q B |

Find the acceleration of a particle in polar co-ordinates

(v h

1. 999 dEd e @ R 9 faeer ScavgfRaer feie 31 ared 2023 9@ weEft@
JAIT Dw A oWl B | G SR W—awafafEd g9 91f?y | R @ gRT forn
BIcieId A1 g&e &1 e faueen sgfaa |req &1 93 T |44 S |

2. 8 A o e ?g I Hfia grasl &1 WY SuAT R wad 2

3. 9 u9Er 99 SHa—fedeR 2023 &1 Agifae U™ 93 &1 @eu o et
S —fegax 2023941 & R

4 R o @& Yeaied ¥ BF gNI fHU MY IewuE wd owe, fawg @ wrem e
dEq A Aifaedr &1 AR F9R—T SRS 39 AT dW WX 3Afread 60 gl
(18 3w ) fear <@, favg—avxg @ @ar=n & fay sifreawn 20 yfoem (6 3i®) T
goHrais, Aifaes—aia gsfRfa s w® aif/eas 20 ufaed (6 sid) ur< @ 9ad @ |

\\ 39 UBR o 100 YRrera (30 3i®) &1 fAqre= = | /




H-93
ufdsd g<xdra Al (qad) faeafaenea s<iiare, faamayR
LEIRECAE (Assignment Work) 99 — SHad—feaeR 2023
Lo (fg<h) wifas s

fayg—sifuRfeT Ren UIUH: GH

quTid : 30 AdH IV 10
die— thareff yde uvs @ Ade B e 8 ugHR YTl Bl ' BN |

RIS RSN

= srf—1

Gus I — AT TSI U (1 8) {eT 08 UL B, T UL AR | UMA U 05 3 IR Wea AMAT
1—2 ¥ IT U a1 |

Gus § — I TSR U (9 ¥ 14) FA 06 U & o8 F BIS 04 U & I | URT UL 01 3 Pl
BRI | STR 9sg AT 75 AT STE U |

= srf—2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR g AT 150 AT TH U |

= sri—3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BT | 2Tsg THT 300 AT &7 US|

=g w4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BRI | STR @7 9Tsg AT 600—750 AT 4—5 U |

A BRI

(Assignment—1)

YGre—3
(Section—A)

1. TR /A § ?

What is process ?

2. API ¥ 3 o7 991d ¢ ?

What do you mean by APL

3. DIR &I BATS Bl ST fIRay ?

Write we of DIR command ?
4. FAT & GX1 9 foifdgy ?
Write full name of FAT ?

5. Jels W 9T A & ?



What does it mean by wordpad ?

6. BIAW XA BT ST 9 fhal WKl € ?
When does hyper terminal id used?
7. WIgTR H dev SRR W T A 87
What does it mean by dev directory in Linux?
8. Giaey HU W W AT T 27
What do you mean by character map?
Ylg—q

(Section—B)

9. RIe <Igd MRIST Rivew | F7 T ©°
What does it mean by real time operating system.
10. 3P fbd ded g° fAfre fAvelat amgepeT @1 M forRa |
What is the icon? Write name of various windows icon.
11, SIRFC # TR9vE oY yfawe dwd &7 foaRad |
How to insert sound (Audio) in documents?
12. AT 3iG AT AT 37 BT TN |
Explain log off and lon in.
13, STCId TR ¥ MY RIT THNT 87
What do you mean by database server?
14, SHTIY TR AC—dHe Y AT A 2?7 FHSSY |
How to create short-cuts in Desktop? Explain.
W FRI-2
(Assignment—?2)
Yre—

(Section—C)

15.

TR {9 9 T AR 2?7 TS |

What does it mean by memory management? Explain.



16. g[S VfshaT BT IR | FHSASY |

Explain booting process in detail.

17. faverat o8 o1 faeram oy |

Write features of windows 98.

18. WI3Iad Bricl 9T &7 FHISY |
What is Linux kernel? Explain.

W FR- 3
(Assignment—3)
Yls—q

(Section—D)
19. TSTaE STHEIY T 87 $9h YBRI BT qUH $d g¢ BRI d= Bl ey forRay |
What is Linux Desktop? Explain.

20. favee T1.d1. ¥ deqw AT (Network setting) ¥~ B DI UfchdT FHMSY |

Explain the process of making Network setting in windows N.T.

21, A0S T@IRR & R T IR I Gy |
Explain menu bar and structure of windows explorer.
22. S B ARG TAT 98T HASH Bl foiRay |

Write Internal and external commands of DOS.
A - 4
(Assignment—4)
Yug—y
(Section—E)

23, JMRIST Rieed & F& B fRay T S0 YBR & R ¥ FHesy |

Write the main functions of operating system and Explain its types in detail.

24. 3T BISl GREHT ®f IR ¥ AUV AT Blscll & YR foIfay |




Explain Linux File structure in detail and write type of files in Linux.
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4. I o & JeAie ¥ BF §RI f6Y U 997 U9 dEq, fawa @) = qon deda 9

HHfdar H1 AR I9-T SR | 399 AT @9 WX 3frbad 60 gfaera (18 e ) faar

Sam, fawa—awg @1 @ & fau sfteaw 20 ufem (6 of®) qnm YoMIaIS,

Hifas—dia ylRia s R afean 20 gfaerd (6 @) T @ 6&d ol 39 USR o

\\100 gfrerd (30 3i®) &1 faure @7 /




H-94
ufded g<xdrd Al (qad) faeafdenea s<iare, faamayR
LEIRECAE (Assignment Work) 99 — SHad—feaeR 2023
Lo (fg<h) wifas s

fdyg— gevdc uve 49 SddudT gTu=: fgdia

quTid : 30 AdH IV 10
die:— gdareff gde @ves @ el & 2 9 ugd} 9Tl Bl v DY |

RIS RSN

T dri—1

Gug 3 — Af AYSTRIY U (1 ¥ 8) Rl 08 U &, I U 3f+ard | Ul Ue9 0.5 3fb IR g AT
1—2 < AT Y aTa |

Gue g — A AGSTIT U (9 W 14) HA 06 UeH & FOoRT I Bl 04 U & P | URT UL 01 3 Bl
BT | SR g AT 75 T 3ATET U |

i w2

GUS ¥ — TYIRIY U (15 A 18) f{eT 04 U © fORT ¥ PIg 03 UL & B | URT U 02 3fH BT 81T |
IR Teq AT 150 AT U U |

i sri—3

GUS T — 3@ Q" IR U (19 9 22) {A 04 U © fTHH F BIS 02 U & I | U U 04 3id Bl
BRI | 9reg AT 300 AT &7 US|

= srd—4

Gus § — Y I U (23 ¥ 24) B 02 U © ORAH F PIS 01 U A By | U U 08 3idb Bl
BT | SR @7 e AT 600—750 AT 4—5 U |
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(Assignment—1)
Ylg—3
(Section—A)

1. f99 &1 Sy fofav |

Write use of Bridge.

2. CoHe @ 2?

What is Telnet ?

3. Rl Ugd fdad fde @1 el 87

What is the bit size of IP address?

4. =i T 99 gISod &1 M forRau |



Write name of any too web browsers.

5. HTML f&9 fofv wgad siem &?
What is the used of HTML?
6. Sclgd WATSUS 9T BiaT &7
What is Inline sound?
7. CGI T A foRau |
Write full name of CGL
8. Siar R @1 fbwfory IUINT fovar ST &2
Write the use of java script.
Yrs—dq

(Section—B)

9.

10.

1.

12.

13.

14.

gvexe Udl U 9 37 /T 99e 8°?

What do you mean by internet service provider?
Rafer Sararell S gRwIT BT |
Define Switching Technology.

TeH AT 2° SWT fofau |

What is modem? Write use of it.

URL ¥ @7 arcy 87

What does it mean by URL?

HTML # 389 &% $9¢ fdar o 87 fofau |

How to insert image in HTML? Write.

T P B BRI fafay |

Write benefits of e-commerce.



W HE- 2
(Assignment—2)
Yrg—3
(Section—C)
15. geeic Rel 9 &l ARy |

Explain internet Relay chat.

16. LAN, MAN T WAN W T Sifery |
Explain LAN, MAN and WAN.

17. 1P UgRIT @ R ¥ ATy |

Explain IP addressing in detail.

18. TIAIRSHE MR & TR foIRav |

Write types of java script operator.
g - 3
(Assignment—3)
Yls—q
(Section—D)

19, ~Cqd SYBY H MY FIT FAST 272 JHN Pl Ui DT |

What do you mean by Network device? Explain type of it.

20. TCP/IP HiSd T Qi qUHA DI |
Explain TCP/IP model with diagram.

21, 3-PMY & JHR fIR § THMS |

Explain types of e-commerce in detail.

22. a1 Repe § Fgldt WeHe & YR foRav |

Write type of control statement in java script.




W IR 4
(Assignment—4)
Grs—s
(Section—E)

23. ARl HfSAT | 3T FT FHI 27 fIRaR & THeMsv |

What do you mena by communication media? Explain in detail.

24, 39 UICIpicd b bR Bl R I FH3MeV |

Explain types of E-mail protocols in detail.
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